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class Solution A{
public:
vector<vector<int>> threeSum(vector<int>& nums) {

int N = nums.size();
vector<vector<int>> result;

/] fERRHZE

/] EXWEHZR

unordered_map<int, int> hashTable;

for (int i = 0; i < N; i+) Ao

for (int j =i+ 1; j <N; j+) {
int sumOfTwoNumber = nums[i] + nums[j];

int b = -sumOfTwoNumber;

auto it = hashTable.find(b);

/] TRERET

if (it == hashTable.end()) {
vector<int> temp;
temp.push_back(it—first);
temp.push_back(nums[i]);
temp.push_back(nums[j]1);
result.push_back(temp);

hashTable[nums[i]] = i;

return result;
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class Solution A{
public:
vector<vector<int>> threeSum(vector<int>& nums) {

int N = nums.size();
vector<vector<int>> result;

/] (EFRBRHR

unordered_set<string> seen;

// BFFHEEKREN=H, BRES
unordered_map<int, int> hashTable;

for (int i = 0; i < N; i+) {
for (int j =1 +1; j < N; j+) {
int sumOfTwoNumber = nums[i] + nums[j];
int b = -sumOfTwoNumber;

auto it = hashTable.find(b);
/] WBBEET
if (it == hashTable.end() && it—second < i)
/] BIE=TAFHIFLIERES
vector<int> temp = {it—first, nums[il],
nums[j1};
sort(temp.begin(), temp.end());

/] (FERFFABREAE—IRR
string key = to_string(temp[0]) + "," +
to_string(temp[1]) +
"," + to_string(temp[2]);
if (seen.find(key) = seen.end()) {
result.push_back(temp);
seen.insert(key);

b
/] ICRIFEFNME
hashTable[nums[i]] = i;



return result;

};
FrfE R (FRED)

class Solution {
public:
vector<vector<int>> threeSum(vector<int>& nums) {
sort(nums.begin(), nums.end());
/] FHREN=7tH
vector<vector<int>> triples;

for (int i = 0; i < nums.size(); +1i) {
/] t&NESA nums[i]

if (1 > 0 8& nums[i] = nums[i - 1]) continue;
int 1 =1 + 1;
int r = nums.size() - 1;

[/ RS, BRAEMESHITZAIISER white (L < r), FrLA
TRE SRS E RN
while (1 < r) {
// HEWESHY nums[1]
if (L>1i+ 1 8& nums[1l] = nums[1l - 1]) {
+=1;
I
/] EWESERY nums[r]
else if (r < nums.size() - 1 && nums[r] = nums[r
+ 1]) {
—r;
I
/] IR EE BRI RYEES
else if (nums[i] + nums[1l] + nums[r] > 0) {
—p:
I
else if (nums[i] + nums[1] + nums[r] < 0) {
+=1;
} else {
triples.push_back({nums[i], nums[1],
nums[r]});

=+1; —-r;






